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Cis – Trans Isomerism

The double bond in an alkene is rigid, that is it 
will not rotate freely. Therefore substituents on 
the carbon atoms will produce geometric 
isomers the same as on a cycloalkane ring.



Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah

Johainah



If the two non-hydrogen atoms or groups are on the same side of the double 
bond it is a cis- arrangement, on opposite sides a trans- arrangement, i.e.

Note that they have different physical properties, this is because their dipole 
moments are different.

For cis–trans isomerism to occur in alkenes, each carbon of the double bond

must have two different atoms or groups attached to it.
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Polar reagents can be divided into :

Nucleophiles
Electrophiles

An electrophile has

a positive charge,

a partial positive charge,

or an incomplete octet.

A nucleophile has

a negative charge,

a lone pair,

or a π bond.
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